1. Given: ALMN =

AUVW . Complete the statements.
—

ATF= LN B.w= MN c. mi= AV
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For 2-11, state the postulate or theorem (SSS, SAS, ASA, AAS, or HL) that could be used to prove the triangles
congruent. If the triangles cannot be proven congruent, write not possible.
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11. For 12 and 13, complete each proof. A B
T U 12.

Given: 4B|DC, 4B=CD D. C
Z Prove: A4BC=ACDA
S \'
Statements Reasons
M 1. 4B=CD 1. Given
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5. AABC = ACDA 8, ; 7 tS

Q 1. Name the congruence postulate that proves the 2 triapgles below are congruent: 5 5 S
Write the congruence statement for the triangles: — Z X

13. K A H Y
Given: KB = AB; BQ bisects £KBA
Prove: AKBQ = AABQ
Statements Reasons
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2. Name the congruence postulate that proves the 2 triangles below are cmgiuent S ﬂ S
Write the congruence statement for the triangles:
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Postulate: SSS Postulate: SA S Postulate
= statement: AF \ l‘ Mg =~ statement: A (W\S = = StatemcntA
AkLW AQRS

Name the tri

2l late you can use to prove
each pair of mlngles congruenm Then state the triangle congruence. -?lf !
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Postulate: S 55 5 Postulate: 1 ;f l S Postulate: SSS
- s LZABPEZ - saenen AMAN T - smene AQRP
ACBD ADPN = ATW

9. If HLbisects JK and HJ = KL what other information do you need to prove the two triangles congruent by
each postulate? H K

a) SSS b) SAS T‘ s +—]

Hi=L 2=

c) Write the congruence statement for the two triangles. ( J r\/ A L l lL_




10. Complete the proof.
Given: D is the midpoint of AC and BD 1 AC
Prove: AABD = ACBD
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Definition of perpendicular lines

All right anglesg-gre congruent

BD=BD i s
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11. Complete the proof:
State, ts Jus tions
Given: EEWX_ WV’—DISC(*S =2
WY bisects ZX =77 == N/X O)1SeC
Prove: AWYZEAWYK T WY = ‘ﬂehgxu/}'
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